
COMPITO A

4.2

TableScan Attori a

Filter a.AnnoNascita =
1970

IndexFilter AttoriFilm af, IdxCodiceAtt,
a.CodiceAtt = af.CodiceAtt

IndexNestedLoop a.CodiceAtt =
af.CodiceAtt

IndexFilter Film f, IdxCodiceFilm,
af.CodiceFilm = f.CodiceFilm

IndexNestedLoop af.CodiceFilm =
f.CodiceFilm

Project f.Titolo,
a.Nome

Piano efficiente

Piano inefficiente

TableScan Attori a TableScan AttoriFilm af

NestedLoop a.CodiceAtt =
af.CodiceAtt

TableScan Film f

NestedLoop af.CodiceFilm =
f.CodiceFilm

Filter a.AnnoNascita =
1970

Project f.Titolo, a.Nome


